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QUESTION 1

When training the network, we often encounter many problems. For the problem of gradient disappearance, we can
alleviate the problem by choosing which of the following functions to use? 

A. Softsign function 

B. Relu function 

C. tanh function 

D. Sigmoid function 

Correct Answer: B 

 

QUESTION 2

Which of the following are AI Subfield? 

A. Machine learning 

B. Computer vision 

C. Speech Recognition 

D. Natural language processing 

Correct Answer: ABCD 

 

QUESTION 3

When the universal text recognition service is successfully called, the returned text recognition result is stored in which
of the following fields? 

A. text 

B. result 

C. content 

D. words 

Correct Answer: B 

 

QUESTION 4

The following about KNN Algorithm k The value description is correct? 

A. K The larger the value, the easier the model is to overfit 
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B. K The larger the value, the smoother the segmentation surface of the classification 

C. K Value is a hyperparameter 

D. can k Value is set to 0 

Correct Answer: BC 

 

QUESTION 5

Which of the following does not belong to automatic hyperparameter optimization algorithm? 

A. Grid search 

B. Random gradient descent 

C. Random search 

D. Model-based hyper parameter optimization 

Correct Answer: B 
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